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Instructions :
(i) First 15 minutes are allotted for the candidates to read the question paper.
() All questions are compulsory. Marks allotted io each question are given against it.
(it)  Questions no. 1 to 10 are Multiple Choice Type Questions. Questions no. 1] to 20 are
Very Short-Answer Type Questions to be answered tn about 25 words eqch, Questions
no. 21 to 26 are Short-Answer Type Questions to be answered in about 50 words each.
Questions no. 27 to 29 are Long-Answer Type Questions to be answered in about
150 words each. https://www.upboardonline.com
(Multiple Choice Type Questions)
Note : Four options are given for each of the following questions, out of which only one answer
- is correct. Choose the correct answer and write it in your answer-book,
1. Who founded the Arya Samaj ? 1
(A) Swami Vivekanand (B)  Swami Dayanand Saraswat;
(C) Raja Rammohan Roy (D) Jyotiba Phule
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3.

6.
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Which one of the following is not a characteristic of an urban society ?
(A)  Dynamic (B)  Uniformity

(C)  Primary relation (D) Agriculture

Who is the author of the book ‘An Essay on the Principle of Population’ (1798) 7
(A)  Karl Marx (B) Max Weber

(C) Thomas Robert Malthus (DY Andre Beteille

What is Caste ?
(A)  An institution (B) A group

{C) An association (DY All of the above

What is ‘State’ ?
(A) A group (B) A community

(C) An institution (D) An association

What does social stratification mean ?

(A) Social equality (B) Social inequality

(C) Social justice (D) Social injustice

Which one of the following is an example of the ‘Chipko Movement' ?

(A) Ecological Movement (B) Farmers’ Movement

(C) Dalit Movement (D) Tribal Movement

’ 1 ia ?
In which year was the ‘Right to Information Act passed in India

(A) 2004 (B) 2005
(C) 2006 (D) 2007
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10.

11.
12,
13.
14,
15.
16.
17.
18.
19.

20.

21.
22,
23.
24.
25.

26.

How many levels are there in the Panchayat; Raj System ?
(A)  Three (B) Four

(Y PFive D) Six

During which decade did the ‘Green Revolution’ begin ?
A) 1950 - 60 (B) 196070
(C) 1970 -80 . (D) 1980-90

(Very Short-Answer Type Questions)
Define rural community.
What do you understand by population growth rate ?
Define culture.
Mention the main problems of the disabled (divyangs).
Elucidate Communalism,
What is meant by civil society ?
Mention three features of industrial society.
What do you understand by peasant class ?
Define social change.

What do you understand by tribe 7

(Short-Answer Type Questions)
What is regionalism ? Give suggestions to control regionalism.
Briefly describe the land reforms in India.
Define Social Movement and state its types.
State the difference between caste and class.
Write a short, note on cultural diversity in India.

Mention the consequences of liberalisation,

6
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28.

29.
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Deseribe (he women's movement. in independent India.

OR

What is dowry system ? Describe its adverge effects on the socicty.

What do you understand by globalization ? Discuss its social consequences.
OR

Describe the effects of the ‘Green Revolution’ on the rural society.

What do you understand by social survey ? Mention its main objectives.

OR

Define kinship and discuss its categories.
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